

Midterm 2

$$\begin{aligned} \textcircled{4} \lim_{x \rightarrow \infty} \frac{\log_2(\log_3 x)}{\log_5(x)} &= \lim_{x \rightarrow \infty} \frac{\frac{\ln\left(\frac{\ln x}{\ln 3}\right)}{\ln 2}}{\frac{\ln x}{\ln 5}} \\ &= \lim_{x \rightarrow \infty} \frac{\ln 5}{\ln 2} \left[\frac{\ln\left(\frac{\ln x}{\ln 3}\right)}{\ln(x)} \right] \\ &= \lim_{x \rightarrow \infty} \frac{\ln 5}{\ln 2} \left[\frac{\ln(\ln x) - \ln(\ln 3)}{\ln x} \right] \\ &= \lim_{x \rightarrow \infty} \frac{\ln 5}{\ln 2} \left[\frac{\ln(\ln x)}{\ln x} \right] = \lim_{x \rightarrow \infty} \frac{\ln 5}{\ln 2} \frac{\ln(\ln 3)}{\ln x} \\ &\quad \begin{array}{l} \searrow \frac{\infty}{\infty} \qquad \qquad \qquad \searrow 0 \end{array} \\ \text{(L'Hopital's)} & \\ &= \lim_{x \rightarrow \infty} \frac{\ln 5}{\ln 2} \frac{\frac{1}{x}}{\frac{1}{x}} \\ &= \lim_{x \rightarrow \infty} \frac{\ln 5}{\ln 2} \frac{1}{\ln x} \\ &= 0 \end{aligned}$$

OR

$$\begin{aligned} \lim_{x \rightarrow \infty} \frac{\log_2(\log_3 x)}{\log_5 x} &= \lim_{x \rightarrow \infty} \frac{\ln 5}{\ln 2} \left[\frac{\ln\left(\frac{\ln x}{\ln 3}\right)}{\ln x} \right] \\ &= \lim_{x \rightarrow \infty} \frac{\ln 5}{\ln 2} \left(\frac{\frac{(\ln x)/\ln 3}{\ln x/\ln 3}}{\frac{1}{x}} \right) \\ &= \lim_{x \rightarrow \infty} \frac{\ln 5}{\ln 2} \frac{1}{\ln x} = 0 \end{aligned}$$

changing base: 10 pts (3 per change + 1 for not losing any constants)

Correctly applying L'Hopital's: 10 pts (5 per derivative)

Finding correct answer: 5 pts.